
DISTANCE ARM CPL 501VB FOR DRAWBAR 200x120x8
ETI- No.  811487 (Specify the order with the ETI No.) Spare Parts

Item Description Drawing No. Item Description Drawing No.
15 LEVER WELDED 623104

16 GASSPRING 368243

DISTANCE ARM RIGHT WITH HANDHOLD HZD* 1337269 17 PLATE WELDED 623103

DISTANCE ARM LEFT WIHT HANDHOLD HZD* 1313791 18 BOLT HEX M12x140 DIN 931 704427

19 BUSH 605547

20 NUT HEX M12 DIN 985 702750

21 BOLT HEX M8x35 DIN 933 700551

22 FORK HEAD WELDED 572614

23 NUT HEX M8 DIN 985 700121

2 BEARING BOLT M36x1,5x350 584686

3 SPACER TUBE 101 MM LENGTH 1360095

4 WASHER 37x47x2,5 DIN 988 703298

5 LOCKING HANDLE M36x1,5 603860

6 SPRING COTTER PIN WITH CHAIN 604104

7 BUSH 584708

8 SNAP RING A22 DIN 7993 702366

9 BEARING BOLT M24x1,5x305 372778

10 LOCKING HANDLE M24x1,5 584685

11 SPRING COTTER PIN WITH CHAIN 604104

12 BUSH 372771

13 SNAP RING A22 DIN 7993 702366

14 WASHER 25x36x2 DIN 988 701914

ETI-No. changed Reason of the change Revisons-No.

811487_en 10.08.2011 BB A

DISTANCE ARM RIGHT WITH HANDHOLD, EYE AND 
TIE-DOWN (ONLY FOR MILITARY)

1310888

DISTANCE ARM LEFT WITH HANDHOLD, EYE AND 
TIE-DOWN (ONLY FOR MILITARY)

1310887

DISTANCE ARM RIGHT WITH HANDHOLD AND EYE 
BLACK - GROUNDED

1336729

DISTANCE ARM LEFT WITH HANDHOLD AND EYE - 
BLACK GROUNDED

1336728

1.1

1.2

DISTANCE ARM RIGHT WITHOUT HANDHOLD HOT 
ZINC DIPPED

1313792
1

Change No.

FREIGABE

provided

18.10.05

1

1.1

1.2

2

9

3

4
56

78

14
1011

1213

15
16 17

22 233
18
19

21 20

Hersteller / Manufacturer / Fabricant: AL-KO Fahrzeugtechnik - 89359 Kötz - Germany  Seite / Page  1 -1


